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Problem quickname: 3766

1)
Reduce the fraction to lowest terms.
24 _ 6 15 3
a) 3 =1 b)ss =7
2)
Reduce the fraction to lowest terms.
48 _ 1 70 _ 5
a) g6 =3 b)s1 =%
39 _ 1 43 1
e)73 =3 s =2
.\ bl _ 3 -\ 36 1
Des =1 Dwm =2
3)
Reduce the fraction to lowest terms.
26 2 17 1
a) 35 =3 b)sr =32
24 _ 2 16 _ 1
€)% =3 ) =2
N 12 1 21 _ 3
a1 =2 ) =1
4)
Reduce the fraction to lowest terms.
32 _ 2 28 _ 2
a) ;g =3 b)Ia =3
18 2 32 _ 4
€9 =3 o =5
-\ 14 _ 2 36 _ 4
Vo1 =3 D =5
Good Luck!
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Quick:
3766
12 2 18 1
)3 =3 d) 55 =3
Quick:
3766
42 1 56 2
)31 =3 ) =3
24 1 54 2
8 R® =3 h) g1 =3
Quick:
3766
22 2 15 3
)33 =3 ) =1
20 _h 18 2
g 3w ==+ h) 37 =3
Quick:
3766
24 2 18 1
€)% =3 d) 3 =2
26 2 21 1
g3 =3 h) 5 =3
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